& Manuals+

Home » Hi Rancher » Hi Rancher AB5T Load Bars User Manual =

Contents [ hide ]

1 Hi Rancher AB5T Load Bars
2 Specifications
3 Unboxing
4 Weighing system
5 Use Assembly
6 E.G Connect Fox Indicator
7 Testing
8 Troubleshooting
9 Further Information
9.1 FAQs
10 Documents / Resources

10.1 References

HiRancher

Hi Rancher AB5T Load Bars


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/hi-rancher
https://manuals.plus/hi-rancher/ab5t-load-bars-manual.pdf

Specifications

e Product Name: AB5T Load Bars
o Weighing System: Load Bar x 2, Indicator, Cattle Crush

« Components: Black Nylon Bag, M10 Hexagon Bolt Set x 16, M10 Anchor Bolt x 16,
Hex key

Unboxing

lo

Black Nylon Bag M10 Hexagon M10 Anchor Bolt *16
Bolt Set *16

> & L

Hex key Load Bar*1

Weighing system



Indicator

Cattle Crush

Load Bars

The weighing system consists of a weight indicator and two load bars, which are
installed under the platform or chute.

(Tips: you may also need adaptor plates for your chute.)
Use Assembly

Step 1.
Select a horizontal and firm ground for the load bars

( Tips: Must be installed on a horizontal ground to weigh accurately)

Step 2.
Lift the cattle chute from the center through using a forklift (Avoid contact with the

installation area) and maintaining minimal clearance to slide the load bar into place.

Step3

Slide the load bar into one side, align the load bar’'s mounting holes with the cattle chute
hole, lower the cattle chute slowly, let it almost touch the load bars, take out the M10
bolts*16pcs, use a wrench to fix the load bar at both ends with M10 bolts and nuts.

Repeat step three for another one.

Step 4.
Carefully lower the cattle chute, then depart away. Secure the foot plate to the ground

with anchor bolts*16pcs



Step 5.
Connect the load bar to an indicator, power on, and zero the indicator (e.g, fox)

b ©

12.5mm

E.G Connect Fox Indicator

Step1

Hold the black plug and insert it into the hole. We have set up corresponding raised

parts and recesses for proper alignment.

Step2.



e Turn clockwise to tighten.

Step3.

-

Tighten the other end in the same manner by turning counter clockwise.
Tips

1. When removing the connector, hold the connector body itself. Do not pull it out by
holding the blue cable, as this may cause damage and affect the weighing accuracy.
2. After use, cover the connector with the black cap to prevent dust from entering and

causing blockages, which may affect precision.
Testing

Must test with a weighing indicator.

Step 1

Put a test weight(which may be yourself or another person) at one end of the



platform/crate and note the stable reading on the indicator.

Step 2
Take the weight off and put it on the other end of the platform/crate, and note the stable

reading on the indicator.

Step 3
Remove the test weight and note whether the reading returns to zero.

Step 4
If the two readings differ by more than 1% of capacity or the reading does not return to

zero, see the troubleshooting section.

Tips: During use, if the device has not been used for a period of time, repeat the above

test before using it for the first time.

500kg v/
i
- -
480kg X
=
= -

Troubleshooting

Fault Remedy




Reading does not return to zero bet
ween animals/Difference in readings
at each end of the platform/Under re

ading(reading lighter than expected)

1. Ensure that the platform/crate is not touchin

g objects that may alter the weights.

Typical causes are binding against fixed metal

work or the buildup of dirt.

2. Check that the load bar feet are sitting evenl

y on the ground.

3. Check that bolt holes are not misaligned, as
this may put a residual load on the load bars. 4

. Recalibrate the load bars

Reading is unstable

1. Moisture in the load bar connector.

Remove moisture from the plugs and caps usin
g methylated spiriEthylthyl alcohol, or a suitabl

e electrical contact cleaner.
2. Damaged cable. 3. Moisture in the load cell.

4. Moisture in the junction box.

Reading moves, the display shows

underload or overload.

1. Damaged cable. 2. Damaged indicator.

For further issues, please connect to our agency or our salesman,thanks

Further Information

1. Do not leave the indicator, load bars, or plugs immersed in water.

2. Cables should be placed correctly so that they will not be damaged.

3. Regularly clean up manure and fertilizer buildup around the load bar to ensure




weighing accuracy.
FAQs

Reading does not return to zero between animals?

Ensure the platform/crate is clear of objects affecting weights and check load bar

alignment.

Reading is unstable?

Remove moisture from plugs and caps, check for damaged cables or load cells.

Reading moves, display shows underload or overload?

Check for damaged cables or the indicator. If further issues arise, please contact

our agency or salesman for assistance.

Documents / Resources

HiRancher

Load Bars
> _ User Manual
2 -

Hi Rancher AB5T Load Bars [pdf] User Manual
AB5T Load Bars, AB5T, Load Bars, Bars

References

e User Manual

m Hi ® ABS5T, AB5T Load Bars, BARS, Hi Rancher, Load
Rancher Bars

Leave a comment


https://manuals.plus/m/34584b7f82b33b2856f88b93cc4b7ad85d0a36298ee382ecc114597a0ae134c6
https://manuals.plus/m/34584b7f82b33b2856f88b93cc4b7ad85d0a36298ee382ecc114597a0ae134c6
https://manuals.plus/m/34584b7f82b33b2856f88b93cc4b7ad85d0a36298ee382ecc114597a0ae134c6
https://manual.tools/?p=17449419#MTQ4LjExMy4yMTAuMjUwOzY2LjI0OS42NS4yMDAsIDE2Mi4xNTguNzguMTM3LCAzLjIxNy4yMDAuMTkwOzMuMjE3LjIwMC4xOTA7NjYuMjQ5LjY1LjIwMDs=
https://manuals.plus/category/hi-rancher
https://manuals.plus/tag/ab5t
https://manuals.plus/tag/ab5t-load-bars
https://manuals.plus/tag/bars
https://manuals.plus/tag/hi-rancher
https://manuals.plus/tag/load-bars

Your email address will not be published. Required fields are marked *

Comment *

Name

Email

Website

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment

Search:

e.g. whirlpool wrf535swhz

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos
are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

	Hi Rancher AB5T Load Bars
	Specifications
	Unboxing
	Weighing system
	Use Assembly
	E.G Connect Fox Indicator
	Testing
	Troubleshooting
	Further Information
	FAQs

	Documents / Resources
	References

	Leave a comment

